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MR [JERE |LINK/4K]B/SJB/STV
B%
H3FE [In My Room 3B/577> 14 {Ié’\ - TVZF B "7k [DE120M=—2 4,071 (BiiA4,478M) 4,000[T] (BiiA4,400) |-
£
H3FE |In My Room BEF77> [ TVF 7By 7k [Bh320Ma—2 4,738 (BliA5,21117) 4,0001 (BiiA4,400117) ]~
=2
H3FE [In My Room 3B/577> 14 ﬁéf TVZF B "7k [EIGa—= 5,238 (BiiA5,76119) 4,000 (BiiA4,40019) |-
£
H22F%[In My Room A~—FBH7 7> 14 |[#4 [1:coM TVFFU B 37k [J120Ma—% 4,071 (BiiA4,4781) 4,000 (BiiA4,400M9) |-
PHONE=— 2 (14E#2%9) % |LINK/4KJB/SJB
52278 [In My Room A~—RBEF75 E S |J:coM TVZ 7By 7k PE320M=—% 4,738 (BiiA5,211H) 4,000[T] (BiiA4,400) |-
PHONE=1— 2 (14E£2%9) {1 |LINK/4KJB/SJB
H207%|In My Room A~ —FBH7 7 4 |[#4 [1:coM TVFFoBa 37k [JE1Ga—=3 5,238 (BiiA5,76111) 4,000 (BiiA4,400M9) |-
PHONE=— 2 (14E#2%9) % |LINK/4K]JB/SJB
5227 [In My Room A~—RBEF75 E S |1:coM TVZ 72 Bar sk PE5Ga—= 5,738 (BiiA6,3111) 4,000[T] (BiiA4,400M9) |-
PHONE=1— 2 (14E£2%9) {1 |LINK/4KJB/SJB
H22F%[In My Room A~— BT 7 14 |[#4 [1:coM TVF I B 37k [JE10Ga—3 6,518[1] (BiiA7,16911) 4,000 (BiiA4,400M9) |-
PHONE=— 2 (14E#2%9) fE% |LINK/4KJB/SJB
297 [In My Room A~—RBEF75 E S |1:.coM TVZ 7By sk PEIGa—= 5,238 (BiiA5,7611) 4,000[T] (BiiA4,400M9) |-
STREAM=t— & (14E5249) (3%3) {1 |LINK/4KJB/SJB
H29F%|In My Room A~ —RB7 7> 4 |[#4 [1:coM TVF I Bar 37k [F120Ma—% 4,071 (BiiA4,47811) 4,000 (BiiA4,400M9) |-
STREAM=1— & (14E3249) (3%3) {E5 |LINK/4KJB/SJB
5297 [In My Room A~—RBEF75 E S |1:coM TVZ 7By 7k [PDE320M=—% 4,738 (BiiA5,211H) 4,000[T] (BiiA4,400) |-
STREAM=t— & (14E5249) (3%3) {1 |LINK/4KJB/SJB
H5297%|In My Room A~ —FBH7 7 4 |[#4 [1:coM TVFFoBa 37k [ JE5Ga—= 5,738H (Biir6,31111) 4,000 (BiiA4,400M9) |-
STREAM=1—Z (14E3249) (3%3) {E5 |LINK/4KJB/SJB
5297 [In My Room A~—RBEF75 E S |1:coM TVZ 7By sk PE10Ga—A 6,518/ (BiiAT7,169M9) 4,000[T] (BiiA4,400M9) |-
STREAM=t— & (14E5249) (3%3) {1 |LINK/4KJB/SJB
927E|In My Room Av—FBH7 7 14 [#4 |J:COM LINK/4KJB [TV FoBar "7k | 1Ga—=x 5,238[1 (BiiA5,76111) 4,000/ (BiiA4,400M) |-
TV+NETZ— 2 (14E5259) e
927 [In My Room A~—RBF75 4 |#ED |J:COM LINK/4KJB [TV T Bz 37k [JE320M=—2 4,738 (BiiA5,2111) 4,000/ (BiiA4,400) |-
TVHNET=— (14E249) £
H92F%[In My Room A~ —R 77> 14 [#45 |J:COM LINK/4KJB~ [TVZ 2D JE320M=— 2 4,548 (BiiA5,002[17) 4,000 (BiiA4,400M9) |-
TV+NET=— 2 (14E5259) e

I ERK-1



J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

[ECIINER S 25 [E%€ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
927 [In My Room A~—FBEF75 14 & [J:COM LINK/4KJB  [TVZZD J1G—R 5,048 (BiiA5,55211) 4,000 (BiiA4,40009) [~
TVHNET=— (14E249) £
F927E|In My Room A~ —FBH7 7 14E |#EA |J:COM LINK/4KJB  [TVF T Bz 37k [E5Ga—2 5,738H (BiiA6,31111) 4,000/ (BiiA4,40011) [~
TV+NETZ— 2 (14E5259) e
927 [In My Room A~—RBF75 14 [#4 [J:COM LINK/4KJB  [TVZZD Je5G—R 5,548 (BiiA6,102[17) 4,000/ (BiiA4,400) |-
TVHNET=— 2 (14E249) £
F927E|In My Room A~ —FBH7 7 14E |2 |J:COM LINK/4KJB  [TVF Bz /327K [J10Ga—=% 6,518 (BiiAT7,1691) 4,000/ (BiiA4,40011) -
TV+NET=— 2 (14E5259) e
927 [In My Room A~—RBEF75 14 [#4 [J:COM LINK/4KJB - [TVZZ2D JE10Ga—= 6,328M (BiiA6,96011) 4,000/ (BiiA4,4009) |-
TVHNET=— 2 (14E249) £
H12%E|In My Room A~v—MBH77UEX |14 |4 [STVB TVZ S B 7k [JE320Ma—= 4,738 (BiiA5,2111) 4,000 (BiiA4,40011) [~
PHONE=1— 2 (14E3259) e
H12f%[In My Room Av—hB157 7 EX [14E [#£4 [STVB TVZ 72 Bar sk PE1IGa—= 5,238 (BiiA5,76119) 4,000[T] (BiiA4,4001) |-
PHONE=— 2 (14£-5249) e
#365E|In My Room A~v—hBEH77UEX |14 |4 [STVB TVZ S B 7k [JE320Ma—= 4,738 (BiiA5,2111) 4,000/ (BiiA4,40011) [~
STREAM=t— 2 (14E32#) (3%3) (G
#336f%|In My Room A~ —hB157 7 EX [14E [#£45 [STVB TVZ 72 Bar sk PEIGa—= 5,238 (BiiA5,76119) 4,000[T] (BiiA4,400) |-
STREAM=t— (14£252) (3%3) e
H380Fd|In My Room il 7"F> (3¢3) 24E  |#EA [J:COM LINK+EIm ] [TVHNET (TVZZB [H1Ga—= 3,000 (BiiA3,30011) 1,000 (BiA1,1001) [~
FEE (N—FF A7 (L& |ar k1M,
V) /4KJB/SIB 12M)
H380FE|In My Room F55I 77> (3%3) 24E [4EA [J1:COM LINK+&MHH [TV+NET (TVZ 7B [JE320M=—A 2,500 (BiiA2,75019) 1,000 (BiiA1,100) |-
EE (N—=RF A7 (LZ |ar 37k + 1M,
V) /4KJB/SJB 12M)
H380Fi|In My Room 55| 7"F> (3¢3) 24£  |#EA [J:COM LINK+EIm i} [TVHNET (TVZZB [5G —= 3,300 (BiiA3,63011) 1,000 (BiA1,100M) [~
FEE (N—FTF A7 (L& |ar k1M,
V) /4KJB/SIB 12M)
580k [In My Room FE5II7Z 2 (5%3) 24E [4EA [J1:COM LINK+E& ] [TV+NET (TVZZUB [ JE10G2—2 3,600 (BiiA3,96019) 1,000/ (BiaA1,100H) |-
EE (N—=RF A7 (LZ |ar 37k + 1M,
V) /4KJB/SJB 12M)
H384F[In My Room il 7"F> (3¢3) 24£  |#EA [J:COM LINK+EIm ] [TVHNET (TVZZB [H1Ga—= 3,000 (BiiA3,30011) 1,000 (BiA1,100M) [~
FEE | N—FF427(LZ [+1M, 12M)
V) /4KJB/SIB
H384F%[In My Room F55I 77> (3%3) 24E [4EA [J1:COM LINK+&HH [TVNET (TVZ 7B [JE320M=—A 2,500 (BiiA2,75019) 1,000 (BiiA1,100) |-
EE [N—RT A7 (LZ |+1M, 12M)
V) /4K]B/SJB
H384F[In My Room il 7"F> (3¢3) 24E  |#EA [J:COM LINK+EIm ] [TVHNET (TVZZB [ H5Ga2—= 3,300 (BiiA3,63011) 1,000 (BiA1,100M) [~
FEE |IN—FF427(LZ |+1M, 12M)
V) /4KJB/SIB
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MR [JERE |LINK/4K]B/SJB/STV
B%
584k [In My Room FE5II 7 (5%3) 24 4 |J:COM LINK+EEE ] [TVHNET (TVZ52B [ JE10Ga—= 3,600 (BiiA3,96017) 1,000 (BiaA1,100M) [~
fEE [N—RT (A7 (LZ |+1M, 12M)
V) /4K]B/SJB
#386fii|In My Room il 7"F> (3¢3) 24£  |#EA [J:COM LINK+Em ] [TVHNET (TVZZB [H1Ga—= 2,000 (BiiA2,20011) 1,000 (BiA1,100M) [~
FFE | N—RFgRZ (LoZ a2 378+ 120M)
V) /4KJB/SIB
#3861k |In My Room F55l 77> (3%3) 24E [4E4A [J:COM LINK+RMHH [TV+NET (TVZ 7B [JE320M=—A 1,500 (BiiA1,65019) 1,000 (BiiA1,100) |-
EE [ N=RTF AT (L& a7k +120M)
V) /4K]B/SJB
#386fii|In My Room il 7"F> (3¢3) 24E  |#EA [J:COM LINK+EIm ] [TVHNET (TVZZB [5G —= 2,300 (BiiA2,53011) 1,000 (BisA1,100M9) |-
FFE | N—RFRF A7 (LoZ a2 378+ 120M)
V) /4KJB/SIB
#5861k [In My Room F55II 77 (5%3) 24E [4EA [J1:COM LINK+& ] [TVHNET (TVZZUB [ JE10G2—2 2,600 (BiiA2,8601) 1,000/ (BiaA1,100) |-
EE ([ N—=RTF AT (L& a7k +120M)
V) /4K]B/SJB
#388Fii|In My Room 5] 7"F> (3¢3) 24£  |#EA [J:COM LINK+EIm ] [TVHNET (TVZZB [H1Ga—= 2,000 (BiiA2,20011) 1,000 (BiA1,100M) [~
FEFE | N—FF 427 (L& [+120M)
V) /4KJB/SIB
#388Hk[In My Room F5jI 77> (3%3) 24E [4EA [J:COM LINK+&MHH [TV+NET (TVZ 7B [JE320M=—A 1,500 (BiiA1,65019) 1,000 (BiiA1,100) |-
EE | N—RT4AZ (L |+120M)
V) /4K]B/SJB
#388Fii|In My Room 5] 7"F> (3¢3) 24£  |#EA [J:COM LINK+EIm ] [TVHNET (TVZ'ZB [5G —2 2,300 (BiiA2,53011) 1,000 (BisA1,100M9) |-
FEFE | N—FF 427 (L& [+120M)
V) /4KJB/SIB
588k [In My Room F55II 77 (3%3) 24E [4EA [J1:COM LINK+E& ] [TVHNET (TVZZUB [ JE10G2—2 2,600 (BiiA2,8601) 1,000/ (BiaA1,100H) |-
EE | N—RT A7 (L |+120M)
V) /4K]B/SJB
H380Fd|In My Room il 7"F> (3¢3) 24E [#EA [J:COM LINK+& ] [TV+NET+TEL (TVY [#:320M=t— 2% 2,500 (BiiA2,750117) 4,000 (BiiA4,40011) [~
[ | N—RFaRZ (L& |FoBav 7k +1
V) /4KJB/SIB M, 12M)
580k [In My Room FE5II 77 (5%3) 24 |%£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [J61G—2A 3,000/ (BiiA3,30019) 4,000[T] (FiiA4,400M9) |-
EE | N—FF 27 (L& |FoBaL 7k +1
V) /4KJB/SJB M, 12M)
H380Fi|In My Room 55| 7"F> (3¢3) 24E  |#EA [J:COM LINK+E&Im ] [TVHNET+TEL(TVY [ J5G2—= 3,300 (BiiA3,63011) 4,000 (Bi3A4,40011) [~
[ | N—RFaRZ (LR |FoBav "7k +1
V) /4KJB/SIB M, 12M)
H380FE|In My Room F55I 77> (3%3) 24E [4EA [J1:COM LINK+&mi ] [TV+NET+TEL(TVY [JE10G=—= 3,600 (BiiA3,96019) 4,000[T] (FiiA4,400M9) |-
EE | N—FF 27 (L& |FoBaL 7k +1
V) /4KJB/SJB M, 12M)
H384F[In My Room il 7"F> (3¢3) 24E [#EA [J:COM LINK+&IE ] [TVHNET+TEL (TVY [#:320M=t—2% 2,500 (BiiA2,750117) 4,000 (BiiA4,40011) [~
FEE | N—FF 27 (LoF |FB+H1M, 12M)
V) /4KJB/SIB
5847k [In My Room FE5II 77 (5%3) 24 |#£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [J61G—2A 3,000/ (BiiA3,30019) 4,000[T] (FiiA4,400M9) |-
EE | N—FF 27 (LF |FB+1IM, 12M)
V) /4K]B/SJB
H384F[In My Room il 7"F> (3¢3) 24E  |#EA [J:COM LINK+Ekl ] [TVHNET+TEL(TVY [ J5G2—= 3,300 (BiiA3,63011) 4,000 (Bi3A4,40011) [~
FEE | N—FF 27 (LF |FB+H1M, 12M)
V) /4KJB/SIB
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MR [JERE |LINK/4K]B/SJB/STV
B%
H384F%[In My Room F5HI7F> (3%3) 24 & [J:COM LINK+EEE ] [TVHNET+TEL(TVY [J610G=2—A 3,600 (BiiA3,96017) 4,000 (FiiA4,400M9) [~
EE | N—FF 27 (LF |FB+1IM, 12M)
V) /4KJB/SJB
867% | In My Room FrRll 77> (3%3) 24E [#EA [J:COM LINK+E& ] [TV+NET+TEL (TVY [#:320M=t—2% 1,500 (BiiA1,65011) 4,000 (BiiA4,40011) [~
FEE | N—FF 27 (L& |FUBaL Tk +
V) /4KJB/SIB 120M)
#5861 [In My Room FE5II 77 (5%3) 24 |%£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [J61Gz—2A 2,000 (BiiA2,20019) 4,000[T] (FiiA4,400M9) |-
B [N—RFAR7 (L i |FoBav$u s+
V) /4K]B/SJB 120M)
#386fii|In My Room il 7"F> (3¢3) 24E  |#EA [J:COM LINK+E&Im ] [TVHNET+TEL(TVY [ J5G2—2 2,300 (BiiA2,53011) 4,000 (Bi3A4,40011) [~
FEE |N—RFTF 427 (LZ |FUBav o+
V) /4KJB/SIB 120M)
#3861k |In My Room F55l 77> (3%3) 24E [4EA [J1:COM LINK+&mi ] [TV+NET+TEL(TVY [JE10G=—% 2,600 (BiiA2,8601) 4,000[T] (FiiA4,400M9) |-
B [N—RFART (L i |FoBav$u s+
V) /4K]B/SJB 120M)
887 In My Room FrRl 77> (3%3) 24E [#EA [J:COM LINK+E&E ] [TV+NET+TEL (TVY [#:320M=t— 2% 1,500 (BiiA1,65011) 4,000 (BiiA4,40011) [~
EE (N—RF 427 (L Z |FB+120M)
V) /4KJB/SIB
588k [In My Room F55II 772 (5%3) 24 |%£45 |J:COM LINK+§kE ] | TV+NET+TEL(TVY" [J61G—2A 2,000 (BiiA2,20019) 4,000[T] (BiiA4,400M9) |-
EE | N—FT 27 (L& |FB+120M)
V) /4KJB/SJB
#388Fii|In My Room 5] 7"F> (3¢3) 24E  |#EA [J:COM LINK+E&Il ] [TVHNET+TEL(TVY [ J5G2—= 2,300 (BiiA2,53011) 4,000 (Bi3A4,40011) [~
EE (N—=RF 427 (L Z |FB+120M)
V) /4KJB/SIB
#388Hk[In My Room F5jI 77> (3%3) 24E [4EA [J1:COM LINK+&mi ] [TV+NET+TEL(TVY [J£10G=—= 2,600 (BiiA2,8601) 4,000[T] (FiiA4,400M) |-
EE | N—FT 27 (L& |FB+120M)
V) /4KJB/SJB
H327E|:COM NET Frpla—2 (1FEF0) |14 | A |CK4) — JE120Ma— R 3,800[] (BiiA4,1801) 3,000 (Bi3A3,300M9) |-
(3%3) =2
5328(J:COM NET Hejllm— 2 (1HF324)) 148 %é} (%4) - J320M=— A 4,500 (BiiA4,95019) 3,000 (BiiA3,30019) [~
(3%3) £
H32FE[J:COM NET Fell=—A (14ERA)  [14F [5RE | C%4) - JE1Ga—A 5,000 (BiiA5,50011) 3,000 (BiiA3,300M1) |-
(3%3) =2
320 J:CO)M NET Feillm—R (LHEZAK) - |14 %é} (%4) - J5G—A 5,500 (BiiA6,05019) 3,000[T] (BiiA3,30019) [~
(%3 £
H332ffi[J:COM NET Fell=—2 (14EFK))  [14E [8RA [ (%4) — H10Ga—A 6,280[1 (BiiA6,908[) 3,0001 (FiiA3,30017) |-
(3%3) 5
H533FE J:CO>M NET Fil=—2 FERK) |24 E@ (3%4) - JFE120M=—A 3,800 (BiiA4,18019) 3,000 (BiiA3,30019) [~
(%3 £
H337E|:COM NET Feplla—2 (QEE350) |24 | P ik | (G%4) — JE320Ma— A 4,500 (BiiA4,9501) 3,000 (Bi3A3,300M9) |-
(3%3) =2
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[EGIINEES i%;ﬁ’% %;ﬁé {:ICI\‘OK%KJB/SJB/ST\/ o— 2% (3%1) e HAERIE (Bid) | HAEERIRE (BOA) | SEROMRREREE (Bitk) | ZEAOBEEREL (BLA) | (fiF5)
B%

ERREH J(>C<(3)>M NET #5532 — X (24E52K)) - [24F E% [€3) - Je1G—A 5,000 (Bi3A5,500119) 3,000 (BiiA3,300M1) [~

B33 I&%M NET Fejll=—2 (4F3240) 248 E% Cx4) - H5GT—A 5,500[1 (Biir6,05011) 3,0001 (Bi343,300M) [~

ERREH J(>C<(3)>M NET #5522 — X (24E52K))  [24F E% [€3) - JE10G1—A 6,280 (BiiA6,9081) 3,000 (BiiA3,300M1) [~

H82ME|J:COMIE A/ Sy 2 2/ - = - JE120M=—% 4,031 (Biir4,43411) 3,0001 (Bi343,300M) [~

Fi82%E|]:COMIE N/ 2% |- |- - JE320M=1— A 4,650 (BiiA5,115[1) 3,000 (BiiA3,300M1) [~

H82ME|J:COMIE A/ Sy 2/ - = = J1GT—2 5,150[1 (BiiA5,665[1) 3,0001 (Bi343,300M) [~

Fi82%E|]:COMIE AN/ 2% |- |- - JE5G—A 5,6501] (BiiA6,215[1) 3,000 (BiiA3,300M1) [~

F82FE[J:COMIE A/ Xy 2o |- |- — JE10GT—A 6,430[1 (BEIAT,07311) 3,000/ (Bi3A3,300M) [~

#5458 [NET/3yZ<PHONE> (14:24)) 14 %g - - JE120M=t— A 3,800 (BiiA4,1801) 3,000 (BiiA3,3001) [l A S fHE L% — 202 <
BEATE [NET/ 3> <PHONE> (14527) 14E ﬁé; - - JE320M=1— 2 4,500/ (Biir4,95011) 3,0001 (BiiA3,30011) [HTHLHASZ FH Ik — #2002 <
#5458 [NET/<yZ7<PHONE> (14:24)) 14 %g - - Je1G—A 5,000 (BiiA5,50011) 3,000 (BiiA3,3001) [l A S fHE L% — 202 <
#ARE [NET~ <2 <PHONE> (14E327) 14 ﬁ% - - H5GT—A 5,500[1 (Biir6,05011) 3,0001 (BiiA3,30011) [HTHLHASZ FHE Ik — #2002 <
#5458 [NET/<yZ7<PHONE> (14:524)) 14 %g - - JE10G—A 6,280 (BiiA6,9081) 3,000 (BiiA3,3001) [l HOAZZ fHE L% — 202 <
%57 |NET/ <2 <PHONE> (24E327) PES E%‘ - - JE120M=—A 3,800[1 (Biir4,18011) 3,000 (BiiA3,30011) [HTHLHASZ = L3¢ — #2002 <
#5f [NET/yZ7<PHONE> 2424)) 24F E% - - JE320M=t— A 4,500 (BiiA4,9501) 3,000 (BiiA3,3001) [l A S fHE L% — 202 <
5% |NET/ S <PHONE> (24F-347) PES E%‘ - - HI1Ga—2 5,000[1 (BiiA5,50011) 3,000/ (BiiA3,30011) [HTHLHASZ FH L% — #2002 <
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MR [JERE |LINK/4K]B/SJB/STV
B%
58 [NET/<»7<PHONE> (24 52#)) 24 EE — — F5GT—A 5,500 (BiiA6,05019) 3,000[T] (Bi3A3,30011) | Bl HGASE (A 1k — i A2 02 <
£
#5f |[NET/y7<PHONE> (24£524) 24F ?ﬁ_ — — J10Ga—2 6,280[1] (BiiA6,90817) 3,000 (BiiA3,30011) | HTH HASE AHE 1 — i A 02<
€
HT6ME|NET 37 <J:COM STREAM LA [14F [#£A [— - FE120M=—A 4,500 (BiiA4,95019) 3,000 (BiiA3,30019) [~
> (14E2259) (3%3) e
HT65ENET/<y7<]:COM STREAM RUB#E |14 |4 [— - JE320M=—A 5,200] (BiiA5,720119) 3,000 (Bi3A3,300M9) [~
> (4E3259) (3%3) =2
HT6ME|NET/327<J:COM STREAM LA [14F [#EA [— - F1GT—A 5,700 (BiiA6,27019) 3,000[T] (BiiA3,30019) [~
> (T4E2259) (3%3) e
HT6FE|NET/3»2<J:COM STREAM FLIZRE [14E [#A [— — Je5GT—A 6,200 (FiiA6,820117) 3,000 (Bi3A3,300M9) |-
> (4E3259) (3%3) =2
HT6FE|NET/37<J:COM STREAM LA [14F [#EA [— - 100G —A 6,980 (BiiA7,678M) 3,000 (BiiA3,30019) |-
> (T4E2259) (3%3) e
HTTRE|NET /32 <J:COM STREAM FLIZRE [24F [kt [— — JE120M=— 2 4,500 (BiiA4,950117) 3,000 (Bi3A3,300M9) |-
> (24E3259) (3%3) =2
HTTRENET 3 7<J:COM STREAM FLIZRE [24F [F4k [— — H320M=— X 5,200 (BiiA5,72019) 3,000 (BiiA3,30019) [~
> (24E259) (3%3) e
TTHE[NET /3 7<J:COM STREAM FLECE 248 | F4k [— — J1Ga—A 5,700[] (BiiA6,27019) 3,000 (Bi3A3,300M9) |-
> (24E3259) (3%3) =2
HTTRENET 3 7<J:COM STREAM FLIZRE [24F [F4k [— — J5G—A 6,200 (FiiA6,82019) 3,000[T] (BiiA3,30019) [~
> (24E219) (3%3) e
TTHE[NET /3 7<J:COM STREAM FLECE 248 | F4k [— — J10Ga—2 6,980[1] (BiiA7,67811) 3,000 (Bi3A3,300M9) |-
> (24E3259) (3%3) =2
FI3FEINET 327 EX (15249) 14 %é} STVB — JE320M=— 2 4,500 (BiiA4,95019) 3,000[T] (BiiA3,30019) |-
£
HI3FENET/ 327 EX (14E3K) FE %4 |STVB — J1Ga—A 5,000 (BiiA5,500117) 3,000 (Bi3A3,300M) |-
=2
HOFE |BREL IR UERK) C% 1) 14 ;;Eé.\ - TV+NET Je12M=—2 2,605 (FiiA2,865M) 4,000[T] (BiiA4,40009) |-
£
FoRE | BHELINESK) G% 1) e TV+NET JE120M=—A 2,891 (BiiA3,18011) 4,000 (BiiA4,40011) [~
=2
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J:COM NET #—E' 2R Koylr—7 VT Lanpkatt

(2022461130 8 % TIZ TRYOBHE S %) VI HEE
[EGIINEES i%;ﬁ’% %% {:ICI\'OK%KJB/SJB/ST\/ o— 2% (3%1) e HAERIE (Bid) | HAEERIRE (BOA) | SEROMRREREE (Bitk) | ZEAOBEEREL (BLA) | (fiF5)
B%

5678 [BREELoN THFRF) GF D 14 {IL%\ - TV+NET JE320M=1— A 3,367 (BiiA3,70311) 4,000 (BiiA4,400M1) |-
ForE | BHELINESRK) G% 1) 14 ﬁ% — TV+NET+TEL JE12Ma—% 2,857[1 (BiiA3,1421) 4,000 (BiiA4,400M1) [~
5678 [BREEL N TFRF) GF D 14 ;;EL%\ - TV+NET+TEL JE120M=t— A 3,3331] (BiiA3,6661) 41,0001 (BiiA4,400M1) |-
ForE | BHELINESK) G% 1) 14 ﬁ% — TV+NET+TEL JE320M— A 3,810 (BiiA4,19111) 4,000 (BiiA4,400M1) [~
5658 [BREEL N TFRF) GF D 14 ;;EL%\ - TV+NET J1GT—= 3,867 (BiiA4,25311) 4,000 (BiiA4,400M1) |-
EoRE | BHELINERK) G% 1) 14 ﬁ% — TV+NET+TEL J1GT—2 4,310[1 (Biir4,74111) 4,000/ (BiiA4,400M1) [~
|ZE7RE [BREEL oL CFERF) GF D 24 E% - TV+NET Je12M=r— A 2,605 (BiiA2,865M1) 4,000 (BiiA4,400M1) |-
B | BHELINESRK) G% 1) 24F g% — TV+NET JE120M=1— % 2,891[1 (BiiA3,18011) 4,000 (BiiA4,400M1) [~
|7 [BREEL oL CFERF) GX D 24F E% - TV+NET JE320M=t— A 3,367 (BiiA3,70311) 4,000 (BiiA4,400M1) |-
BT | BHELINQERK) G% 1) 24F g% — TV+NET+TEL Je12Ma—% 2,857[1 (BliA3,14211) 4,0001 (BiiA4,400M1) [~
|ZE7RE [BEEL o CFERF) GF D 24 E% - TV+NET+TEL JE120M=1— A 3,3331] (BiiA3,66611) 41,0001 (BiiA4,400M1) |-
B | BHELINQESRK) G% 1) 24F g% — TV+NET+TEL JE320M— A 3,810 (BiiA4,19111) 4,0001 (BiiA4,400M1) [~
|ZE7RE [BREEL oL CFERF) GX D 24 E% - TV+NET J1GT—= 3,867 (BiiA4,25311) 4,000 (BiiA4,400M1) |-
B | BHELINESRK) C% 1) 24F g% — TV+NET+TEL JE1Ga—A 4,310[1 (Biir4,74111) 4,000/ (BiiA4,400M1) [~
LR | BT T (UFERR) 14 %g - - JE120M=t— A 3,681 (BiiA4,04919) 4,000 (BiiA4,400M1) |-
B |BHTT (1K) 14E 1%;:;.; — — JE320M=— A 4,348[1 (Biir4,78211) 4,0001 (Biir4,40011) |-
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J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

Roplr—7 M7Lanpklatt
20254ET A 1 HEE

[ECIINER S 25 [E%€ [J:COM a— 25 (3% 1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
I | BT 70 (HEEK) 14 {Ié\ - — F1GT—A 4,848 (BiiA5,3321) 4,000[T] (BiiA4,4009) |-
£
oM | BTG T (2E5) 24 g@: - - JE120M=— A 3,68111 (Bi324,0497) 4,00011] (BL3A4,4001T) |-
€
Hok | BT T QERK) 24 EE — — JE320M=— 2 4,348M (Biir4,78219) 4,000[T] (BiiA4,400M9) |-
£
oM | BT T (RK) 24 Eﬁ: - - H1G=—= 4,848[1] (BiiA5,3321) 4,000/ (BiiA4,40010) |-
€
2| A~V — bRV 7 EAETE) 4 |44 |J:CoM TV+NET+TEL Je12M=— 2 2,857 (BiiA3,14219) 4,000[T] (BiiA4,40009) |-
{1 |LINK/4K]JB/SJB
230 | A~ — It EL /7 BEAEE) I |%A [):CcoM TV+NET+TEL JE120M— R 3,333 (Bi3A3,666M1) 4,000/ (BiiA4,400M9) |-
{E5 |LINK/4KJB/SJB
2| A~V — bRV 7 EAETE) 4 |44 |J:CcoM TV+NET+TEL JE320M=— 2 3,810 (Biir4,191H) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB
F23fE| A~ — It EL 7 BEAEE) 4 %4 [1:coM TV+NET Je12Ma—X 2,605 (Biir2,865M) 4,000/ (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB
2| A~V — bRV 7 EAETE) 4 |44 |J:CcoM TV+NET JE120M=— 2 2,891/ (BiiA3,18019) 4,000[T] (BiiA4,400H) |-
{1 |LINK/4KJB/SJB
23| A~ — L 7 BEAEE) 4 %4 [1:coM TV+NET JE320MT— R 3,367H (BiiA3,70311) 4,000 (BiiA4,400M) |-
{E5 |LINK/4KJB/SJB
2| A~ — bRV 7 EAETE) 4 |44 |J:CcoM TV+NET+TEL F1Ga—A 4,310 (Biir4,7411) 4,000[T] (FiiA4,400M9) |-
i€ |LINK/4KJB/SJB
23| A~ — It EL 7 BEAEE) 4 |[#4 [1:coM TV+NET FE1Ga—% 3,867 (Biird,25311) 7,000 BoAd.400M) |-
{E5 |LINK/4KJB/SJB
2| A~V — bRV 7 EAETE) 4 |44 |J:CcoM TV+NET+TEL H5GT—A 4,810/ (BiiA5,291H) 4,000[T] (FiiA4,400M9) |-
{1 |LINK/4KJB/SJB
23| A~ — It EL 7 BEAEE) 4 |[#4 [1:coM TV+NET JE5Ga—A 4,367 (Biir4,8031) 4,000 (BiiA4,400M9) |-
{E5 |LINK/4KJB/SJB
2| A~ — bRV 7 EAETE) 4 |44 |J:CcoOM TV+NET+TEL F10G—A 5,590 (BiiA6,149M9) 4,000[T] (Fiir4,400M9) |-
{1 |LINK/4KJB/SJB
23| A~ — L 7 BEAEE) 4 %4 [1:coM TV+NET JE10Ga—A 5,147 (BiiA5,661M1) 4,000 (BiiA4,400M9) -
{E5 |LINK/4KJB/SJB
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J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

Roplr—7 M7Lanpklatt
20254ET A 1 HEE

[ECIINER S 25 [E%€ [J:COM a— 25 (3% 1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
F2ARE| A~ — PR 7 (24E25) 24 |4 |J:COM TV+NET+TEL Je12M=— 2 2,857M (BiiA3,14219) 4,000 (BiiA4,40019) [~
{1 |LINK/4KJB/SJB
24| A~ — bR EL 7 QL) 24E  [FAt [J:COM TV+NET+TEL JE120M=— 2 3,333 (BiiA3,666[1) 4,000[1 (Fiir4,40017) |-
{E5 |LINK/4KJB/SJB
F2ARE| A~ — PR 7 (24E25) 24 |[FAE |J:COM TV+NET+TEL JE320M=— 2 3,810 (Biir4,191H) 4,000 (BiiA4,40019) |-
{1 |LINK/4KJB/SJB
F248 | A~ — It L 7k (EERE)) 24 [JFRE [J:COM TV+NET JE12Ma—X 2,605 (Biir2,865M) 4,000/ (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB
F2ARE| A~ — b EL 7 (24E25) 24 |[FAE |J:cCoM TV+NET JE120M=— 2 2,891/ (BiiA3,18019) 4,000[T] (BiiA4,400H) |-
{1 |LINK/4KJB/SJB
24T | A~ — 1L 7R QEEER) 24E [FFRE [J:COM TV+NET JE320M=— 2 3,367 (BiiA3,7031) 4,000 (BiiA4,4001) |-
{E5 |LINK/4KJB/SJB
F2ARE| A~ — PR 7 (24E25) 24 |4 |J:COM TV+NET+TEL F1Ga—A 4,310 (Biir4,7411) 4,000[T] (FiiA4,400M9) |-
{1 |LINK/4KJB/SJB
F248 | A~ — It L 7k (EERE)) 24F  [FHE [J:COM TVHNET F1Ga—= 3,867 (Biak4,253M) 1,00007 (Fi5A4,40010) |-
{E5 |LINK/4KJB/SJB
F2ARE| A~ — bR 7 (24E25) 24 |[FAE |J:COM TV+NET+TEL H5GT—A 4,810/ (BiiA5,291H) 4,000[T] (FiiA4,400M9) |-
{1 |LINK/4KJB/SJB
F248 | A~ — It L 7k (EERE)) 24E | [J:COM TV+NET Je5Ga—A 4,367 (Biir4,8031) 4,000 (BiiA4,400M9) |-
{E5 |LINK/4KJB/SJB
F2ARE| A~ — PR 7 (24E25) 24 |[F#E |J:COM TV+NET+TEL F10G—A 5,590 (BiiA6,149M9) 4,000[T] (FiiA4,400M9) |-
{1 |LINK/4KJB/SJB
24| A~ — 1L 7R QEEER) 24E [FFRE [J:COM TV+NET JE10Ga—A 5,147F] (BiiA5,66111) 4,000 (BiiA4,400M9) |-
{E5 |LINK/4KJB/SJB
H20Mi| A~—FpfF7F PHONE=—2 |14 [#£A [J:COM — JE120M=— 2 3,681 (BiiA4,0491) 4,000 (FiiA4,400M9) |-
EAREE) {1 |LINK/4KJB/SJB
H20ffi| A~—FB1F7F PHONE=a—2  [14E |4 [J:COM — JE320M=— 2 4,348 (Biiad,78211) 4,000 (Bi3A4,40011) [~
(EAET) 15 |LINK/4KJB/SJB
H20Mi| A~—FPfF7F PHONE=—2 |14 [#£A [J:COM — JE1Ga—R 4,848 (BiiA5,33211) 4,000 (BiiA4,4000) |-
AT {1 |LINK/4KJB/SJB
H20fE| 2~ —bB157 T PHONER—2  [I4E |54 []:COM — HE5GT—A 5,348[1] (BiiA5,882[1) 4,000/ (BtiA4,40011) |-
(EAET) 55 |LINK/4KJB/SJB
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

Roplr—7 M7Lanpklatt
20254ET A 1 HEE

[ECIINER S 25 [E%€ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
H20fE[ A~ —RBfF7 T PHONE=—A  [14E & [J:com — J10G=—A 6,128/ (BiiA6,74019) 4,000 (BiiA4,400H) [~
AT {1 |LINK/4KJB/SJB
F21ff| A~ —FB1F 75 PHONE 27— 2 (2[24F  [F & |J:COM — JH120M=— A 3,681M (FiiA4,04917) 4,0001 (Fiir4,40017) |-
AEFH) fE% |LINK/4K]JB/SJB
H21Mi| A~—PfF7F PHONE =—% (2[24E |4k [J:COM — JE320M=— 2 4,348 (Biir4,78219) 4,000[T] (FiiA4,400M9) |-
EH) {1 |LINK/4KJB/SJB
H21ffi| A~—FB1F7F PHONE =—2 (2[24F |4k [J:COM — Je1Ga—A 4,848 (BiiA5,3321) 4,000 (BiiA4,400M) |-
AEIH) £ |LINK/4KJB/SJB
H2 1M A~—P1F7F PHONE =—% (2245 |4k [J:COM — H5GT—A 5,348M (BiiA5,8821) 4,000[T] (BiiA4,40009) |-
EH) {1 |LINK/4KJB/SJB
21| A~— 1377 PHONE =— X (2|2%F |4k [J:COM — JE10Ga—2A 6,128] (BiiA6,740117) 4,000/ (BiiA4,40011) [~
5% |LINK/4KJB/SJB
H2THi| A~—PfF7F STREAMa—= |14 [#£4A [J:COM — JE120M=— 2 3,681 (BiiA4,04917) 4,000 (FiiA4,400M9) |-
EARTE) (%3) 5 |LINK/4KJB/SJB
H2THE| A~—F 31577 STREAMa—X |14 |4 |J:COM — JE320M=— 2 4,348 (Biiad,78211) 4,000 (Bi3A4,40011) [~
(AT (%3) 55 |LINK/4KJB/SJB
H2THi| A~—F P75 STREAM=—=2 |14 [#£A [J:COM — JE1Ga—R 4,848 (BiiA5,33211) 4,000 (BiiA4,400) |-
BEARE) (%3) 5 |LINK/4K]B/SJB
2R A~—F P15 75 STREAMa—2  [14E |4 [J:COM — Je5GT—A 5,348 1] (BiiA5,88211) 4,000 (BiiA4,400M) |-
(AT (%3) 55 |LINK/4KJB/SJB
H2THi| A~—FPfF7F STREAM=—= |14 [#£4A [J:COM — JE10Ga—2 6,128 (BiiA6,740117) 4,000 (BiiA4,40009) |-
EARE) (%3) 5 |LINK/4KJB/SJB
8T A~ —RBIF T T STREAMa—A  [24E  [F 2 [J:COM — J120M=— A 3,681M (Fiir4,04917) 4,0001 (Fiir4,40017) |-
(24E5) (3%3) fE% |LINK/4K]JB/SJB
H28Hi| A~—FPfF7F STREAMa—=  [248 |4k [J:COM — JE320M=— 2 4,348M (Biir4,78219) 4,000[T] (FiiA4,400M9) |-
(24F225) (3%3) {1 |LINK/4KJB/SJB
H28ffi| A~ —F P15 7T STREAMa—2  [24F | F#k |J:COM — Je1Ga—A 4,848 (BiiA5,3321) 4,000 (BiiA4,400M9) |-
(24E5) (3%3) fE% |LINK/4KJB/SJB
H28i| A~ —FPfF7F STREAM=—=  [248 |4k [J:COM — H5GT—A 5,348 (BiiA5,8821) 4,000[T] (BiiA4,4000) |-
(24E225) (3%3) {1 |LINK/4KJB/SJB
08T | A~ —F 1577 STREAMT—Z |24 |4 |J:COM — JE10Ga—2A 6,128] (BiiA6,740117) 4,000/ (BiiA4,40011) [~
(24E5) (3%3) fE% |LINK/4K]JB/SJB
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J:COM NET #—t 2%
(202246 H30H £ TIZZEHOBE S F)

Roplr—7 M7Lanpklatt

[ECIINER S 25 [E%€ [J:COM o— 2% (3%1) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%

FIOME| A~ —R BT T TVINETa—A  [14E & [J:COM LINK/4KJB | — JE120M=— 2 3,861 (BiiA4,2471) 4,000/ (BiiA4,400119)[J:COM STREAM FLBEAFI 3585413 H #6F]
EEHEE) e FERHEIZTTOM (LA L7220 £,

FIORE| A~— 177 TVAINETZ—2  |14E  |#E4 |J:COM LINK/4KJB~ |— JE320MT— A 4,528[] (BiiA4,980117) 4,000 (BiiA4,40019) [J:COM STREAM FLIZREZFIHI 3555 & 13 H &F1]
(AT (e JHEHEZTTOM (BLGAINEL E720 E5,

FIOME| A~—FBIF 7T TVANET=—2 |14 %S [J:COM LINK/4KJB  [— F1GT—A 5,028/ (BiiA5,53011) 4,000 (BiiA4,400119)[J:COM STREAM FLJSCEAFI 3585413 H &iF]
(EEHEE) e FEBHEIZTTOM (BLAINR L7220 £,

FIORE| A~ — 177 TVAINETZ—2  |14E  |8E4 |J:COM LINK/4KJB |— JE5Ga—A 5,528 ] (BiiA6,080117) 4,000 (BiiA4,40011)[J:COM STREAM FLIAEAFIH 555 &3 H 465
(EAET) (e JHEHEZTTOM (BLGAINEL E720 E5,

FIOME| A~—FBfF 7T TVANETa—Z |14 [#ES [J:COM LINK/4KJB  [— 100G —A 6,308 (BiiA6,93811) 4,000 (BiiA4,40011)[J:COM STREAM FLJEAFI 3285613 H &iF]
(EAHEE) e FERHEIZTTOM (BLAINH L7220 £,

IR A~—hB1F7 T TVAINET=—A (2[24F  [F4k [J:COM LINK/4KJB  [— H120M=— A 3,861 (Fiir4,2471) 4,0001 (FiiA4,40017) [J:COM STREAM RLIAEAFIH I 585 & 13 A &F]

=2 JHEHEZTTOM (BLGAINEL E720 E5,

FIME| A~ —R BT T TVINETa—A (2[245  [J74E [J:COM LINK/4KJB |~ JE320M=— 2 4,528 (BiiA4,98011) 4,000 (BiiA4,4001)[J:COM STREAM FLSEAFI 3585613 H %F]
HERR) e FERHEIZTTOM (BLAINH L7220 £,

HIFE| A~— 17T TVANET=2—Z (2[24F [ Sk [J:COM LINK/4KJB  [— H1Ga—A 5,028 (BiiA5,53011) 4,000 (BiiA4,400[1) [J:COM STREAM LIk A FIHI 9285613 A &F
AEIH) e JHEHEZTTOM (BLGAINEL E720 E5,

M| A~—F 17T TVANET=—% (2[245 [/ 4E [J:COM LINK/4KJB  [— F5GT—A 5,528 (BiiA6,08011) 4,000 (BiiA4,40011)[J:COM STREAM FLCEAFI 3285613 H &iF]
HERR) e FERHEIZTTOM (BLAINR L7220 £,

HIRE| A~— 175 TVANET=2—Z (2[24F  [F4k [J:COM LINK/4KJB  [— H10Ga—A 6,308[1 (BiiA6,938[1) 4,000 (BiiA4,400[1) [J:COM STREAM LKA FIHI 92485613 A &F
AEIH) e JHEHEZTTOM (BLGAINEL E720 F5,

H10ME| A~—F 7575 EX PHONE=—X% [14E [#£E4 [STVB — H320M=— X 4,348M (Biir4,78211) 4,000 (BiiA4,400M9) |-
(EEHEE) e

H10ffi| A~—F 175 EX PHONE=—X [14E [#E4A [STVB — J1Ga—A 4,848 (BiiA5,33211) 4,000 (BiiA4,40011) [~
(EAET) =2

H M| A~—F 7575 EX PHONE=—X% [24E [/ 4E [STVB — JE320M=— 2 4,348M (Biir4,78219) 4,000[T] (BiiA4,40009) |-
(GRS )] e

11| A~—FH1F75EX PHONE=—X [24F  [F7 [STVB — J1Ga—A 4,848 (BiiA5,33211) 4,000 (BiiA4,400M) |-
(24E325) =2

34| A~ —R BT EX STREAM=— |14 [£E4 [STVB — H320M=— % 4,348M (Biir4,78211) 4,000 (BiiA4,400M9) |-
ABEARETE) (%3) e

Hi34Ffi| A~ — 175 EX STREAM=— [14E  [#EA [STVB — J1Ga—A 4,848 (BiiA5,33211) 4,000 (BiiA4,400M) |-
ASEAREE) (%3) =2
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J:COM NET H—E 2

(202246 H30H £ TIZZEHOBE S F)

Roplr—7 M7Lanpklatt
20254ET A 1 HEE

[ECIINER S 55 [ [J:COM o— 25 (%) i H HEERIRBid) | HEERIHE(BLA) | S2R0fRBRe (Bl | ZAOMRREr (BLA) | (52)
MR [JERE |LINK/4K]B/SJB/STV
B%
35| A~ —RBFF 7T EX STREAM=t— [24£  [J5& [STVB — JE320M=— 2 4,348M (BiiA4,78219) 4,000 (BiiA4,4009) |-
A (M) (3%3) e
H335ffi| A~ — 1575 EX STREAM=— [24F  [F7k [STVB — J1Ga—A 4,848 (BiiA5,33211) 4,000 (BiiA4,40011) -
A (4EBH) (3%3) =2
HoHE ol Ty BHFEK) (K1) 3 E&% — — JE320M=— 2 3,438M (BiiA3,781H) 4,000[T] (BiiA4,400M9) |-
£
E8HE [bolBHT T GHERK) (%) 34 g% - - J1G—A 3,938 (Biir4,3311) 4,000 (BiiA4,40011) -
€
WM [bolBH 7T (TL—L Ayl |34 [Pk |— — JE320M=— 2 3,438M (BiiA3,781H) 4,000[T] (BiiA4,40009) |-
(3HE2219) (3%1) e
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